WT-SYS-250-5

MATERIAL. - -
FINISH.

COLOR.

NAUTILUS. ING. @mum.us

16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98683

6

2

REVISIONS
ECO REVISION REV DESCRIPTION APPROVED DATE
071607-G A Initial Release GMW 7/16/2007
081407-A B Replace rear shield bolt with shorter one. GMW 8/14/2007
C Updated Part Numbers GMW 11/1/2007
062708-A D Updated Part Numbers GMW 7/2/2008
:
c
>
imem | 250 Wi System with 51b PART NO. DESCRIPTION
1 1 ENGINE-WT-250-5 ENGINE WEIGHT 250 LB 5 LB INCR
2 1 60-1202 S6 Tower Backframe
3 1 62-1211 HANDLEBAR TOWER
4 2 09-1213 Footpad Rubber Tower Front "ONE"
5 2 09-1214 Footpad Rubber Tower Rear "ONE"
6 1 01-4050 BUTTON HEAD SOCKET CAP SCREW % -20 x %" BRIGHT ZINC
7 2 01-4060 BUTTON HEAD SOCKET CAP SCREW, ¥4 -20 x 3/8" BRIGHT ZINC
8 1 KIT-TOWR-SHIELD SHIELD KIT FOR S6 WEIGHT SYS
9 2 1/2" Lock Nut <
10 1 WASHER, FLAT, 15" SAE
11 2 BUTTON HEAD SOCKET CAP SCREW,V-13 x 12" BRIGHT ZINC
12 1 Efson PF1008
13 1 BUTTON HEAD SOCKET CAP SCREW,:-13 x 1" BRIGHT ZINC
14 1 Weight Drive Tower Positive Cam
15 2 CLAMP BELT 1 1/4"
16 1 Component Belt Weight Engine "ONE" - 49.5"
17 4 Y4 -20 UNC x 1%4 Wiz Lock Bolt
18 1 Weight Select Knob Assy
19 1 FOOTPAD MOLDED BLACK
20 4 BUTTON HEAD SOCKET CAP SCREW, 5/8 -11 x 1" BRIGHT ZINC
21 1 Stop Weight Lower Engine "ONE"
22 1 Mount Plate Inside Engine "ONE"
23 1 Mount Plate Outside Engine "ONE" *
24 1 Mount Tower Display Marketing
25 1 1/4-20 INSERT 11/16" LONG
26 2 3/8 -16 UNC x 14 Bolt
27 2 3/8 -16 UNC x 3 Bolt
28 4 SCW-FHSCS 0313-18x0.625 G8-Z¢
29 2 SCW-FHSCS 0250-20x0.625 G8-Z¢
30 4 3/8" Lock Nut
31 2 1/4" Lock Nut
32 1 BUMPER
33 1 Stop Weight Upper Engine "ONE"
34 1 NLS Logo 3" Decal (001-4009)
35 1 Engine Cover Decal "ONE"
36 1 MADE IN USA
37 1 SERIAL NO. DECAL
38 1 NLS ONE Back Dome "
39 1 NLS ONE 3" Dome Decal (000-6491)
40 3 15 -13 UNC x 3 Bolt
41 2 Clamp Belt ONE
"o s aencams im0 AvaLs prasEcrion| 1Sy S | & THabb """ Tower Weight Engine "ONE" 250-5
S e INCH i e 09/07/07 g WT-SYS-250-5 " p

H

(INTERPRET DIMENSIONS AND TOLERANCES PER ASME Y14 5W - 1994)
This document i the property of Nautilus, Inc. It may not be reproduced in whole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. All rights are reserved, including copyrights. SCALE: 12 SHEET10F7

3

DO NOT SCALE DRAWING

2 1


https://www.gympart.com/itemdesc.aspx?ic=ST10170&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1469&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1208&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1814&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1472&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1473&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1360&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1169&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1182&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1149&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MC0002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1726&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11823&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

8
REVISIONS
- - -
ZONE| REV. DESCRIPTION DATE APPROVED

See Weight Tower BOM

MATERIAL. ==

FINISH.

09-1206

09-1207

09-1201

12-5626
12-5621

09-1204 !

ENGINE WT-250-5

KNOB-LB-250-5

09-1205 \FRAME AND ENGINE MOUNTS
BELT AND CAM ASSY

UNLESS OTHERWISE SPECIFIED: THIRD ANGLE PROJECTION TOLERANCES. %IX pesicnep - G.WEBB TITLE.

g H H 1) ” -
Onavrws isimes METRIC G e ole oo omrer Welght “ngine "ONE 2505
16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98663 D WT-SYS-250-5 “'D

DO NOT SCALE DRAWING

CONTACT email / phone # This document is the property of Nautilus, Inc. It may not be reproduced in whole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. Al rights are reserved, including copyrights. SCALE: 16 SHEET 2 OF 7
8 7 6 5 4 3 2 1

I+ I+ 1+ 1+
coow
N

It


https://www.gympart.com/itemdesc.aspx?ic=NTS1150&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NT153&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1120&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1149&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

WT-SYS-250-5

MATERIAL. ==

FINISH. -

01-4050

DETAILB
SCALE1:2

09-1213

09-1204

I

09-1201

TOLERANCES. X, +3 oesicven  G.WEBB TITLE, . .
@mws THIRD ANGLE PROJECTION §;X § ‘5:25 o G Webb Tower Welght Englne "ONE" 250-5
NAUTILUS, INC. - M E TR I C XX : L}J DATE 09/07/07 SIZE PART NO. WT Y 2 REV.
16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98683 eromces b E 'S S' 50'5 D
CONTACT  email / phone # roducex /hole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. All rights are reserved, including copyrights. SCALE: 1:5 SHEET 3 OF 7



https://www.gympart.com/itemdesc.aspx?ic=NTS1150&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NT153&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1120&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

WT-SYS-250-5

MATERIAL. - -

FINISH. .-

" . ALL BOLD RED NUMBERS ARE 01-155
POWDER COATED

56-0096

62-1211

03-1035.

03-103

09-5030 01-4070

—1 |

56-0144

DETAIL C
SCALE 1:2

ToLERANCES. X &.125 oesicveo  G.WEBB TITLE. . N
@mum.us e INCH e B BB ST Ges Tower Weight Engine "ONE" 250-5
NAUTILUS, INC. 4 ST C XX 4 oaTe 09/07/07 SIZE |PART NO. T S YS 2 50 5 REV.
16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98683 soeNguLAR 1 T E vv - - - D

(INTERPRET DIMENSIONS AND W Y14 54
CONTACT. email / phone # This document is the property of Nautilus, Inc. It may not be reproduced in whole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. All rights are reservea, including copyrights. SCALE: 1:3 SHEET 4 OF 7
4


https://www.gympart.com/itemdesc.aspx?ic=STS1814&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1389&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1169&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1182&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

7 6 5 4 3 2 1

REVISIONS

o | me | oesompron T o T oo

WT-SYS-250-5

I [ "Seq Waight Tower BOM | |

MATERIAL. ==

FINISH.

12-5625

12-5626

12-5625

s

71 1L-39/64"

\

12-1380 N o 1l 12-5620

2% 19-1291

C \\\\\\\ P — ~ R q
63/64" Pre S

8
v

@,
o
&

12-5621 Q \

12-5621

6 33/64"

1 29/64*

UNLESS OTHERWISE SPECIFIED: TOLERANCES. X. +3 oesisver - G.WEBB TITLE.
THIRD ANGLE PROJECTION : : : ", "
05 T -
mws 1AL DIMENSIONS APPLY BEFORE PLATING OR CORTING, M ET R I C Q;X § 0.25 DRAWN G.Webb ower Welgh t En gine ONE" 250-5
NAUTILUS, INC. S AL APRLICABLE NAUTILUS STANSAFDS AND SPECIFIGATIONS APPLY. +0.

fﬁéffmﬁ H 101 onre 09/07/07 SEE PART NO. WT'S YS'250'5 REV. D

3
16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98683 NTERPRET OWENSIONS AND TLETANCES PERASHE ik 51590 —
CONTACT  email / phone # This document i the property of Nautilus, Inc. It may not be reproduced in whole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. All rights are reserved, including copyrights. SCALE: 1:4 SHEET 5 OF 7
8 7 6 s 4 3 2 1


https://www.gympart.com/itemdesc.aspx?ic=NTS1149&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1149&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

WT-SYS-250-5

FINISH.

: 01-4035

56-0217

56-0035
56-0035
C 03-1055
01-4054
01-4053
L 03-1055
‘:L
\-56-0217

01-403

UNLESS OTHERWISE SPECIFIED:
1. ALL DIMENSIONS APPLY BEFORE PLATING OR COATING.

.
3. ALL APPLICABLE NAUTILUS STANDARDS AND SPECIFICATIONS APPLY.

NAUTILUS, INC.
16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98683

2

REVISIONS

zonE

DaTE

APPROVED.

THIRD ANGLE PROJECTION

mws 2 REMOVE ALL BURRS, BREAK SHARP EDGES 0.5 MM MAX.
3 ALL MACHINED SURFAGES Ra 32

X.
XX

XXX
XXXX
ANGULAR

(INTERPRET DIMENSIONS AND TOLERANCES PER ASME ¥14.5 - 1994)

"“Fower Weight Engine "ONE" 250-5

DO NOT SCALE DRAWING

CONTACT  email / phone # This document i the property of Nautilus, Inc. It may not be reproduced in whole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. All rights are reserved, including copyrights.

8 7 6 5

£ WT-SYS-250-5 "D

SHEET 6 OF 7



https://www.gympart.com/itemdesc.aspx?ic=ST10170&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10170&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1469&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1208&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1473&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1360&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MC0002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1726&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11823&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11823&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

s ; B s 4 3 2
nevisions
WT-SYS-250-5
o | e | osomprion [ oare [ ApprOVED
MATERIAL. == | | Se Welght Tower BOM | |
FINISH.

04-1008

02-9047

04-2081

05-5113

02-9047

UNLESS OTHERWISE SPECIFIED: THIRD ANGLE PROJECTION  TOLERANCES. X, oesicveo | G.WEBB I

s TLE . .
NAUTILUS, 53niaHssmuensis METRIC X E‘g’% onamn | G.Webb Tower Weight Engine "ONE" 250-5

NAUTILUS, INC. S AL APRLICABLE NAUTILUS STANSAFDS AND SPECIFIGATIONS APPLY. XXX o 0] DATE 09/07/07 SIZE |PART NO. WT S YS 2 5 0 5 REV.
- - -, D
16400 SE NAUTILUS DRIVE, VANCOUVER, WA 98683 INTERPRE NSNS AND TOLEFANGES PEASNE 1430 1% sonorsonzommne. |2
CONTACT  email / phone # This document i the property of Nautilus, Inc. It may not be reproduced in whole or part, provided to third parties, or used for any purposes other than the performance of work for Nautilus, Inc. without written authorization. All rights are reserved, including copyrights. SCALE: 1:1 SHEET 7 OF 7

8 7 6 H 4 3 2 1


https://www.gympart.com/itemdesc.aspx?ic=NTS1148&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams



